These two Loki Ra

ilroad truck skeletons are used as
i n p ut fo rca | cu | at| ons F is the force of the hydraulic cylinder which is developing 245 kN
509 mm 986 mm
R
A -_-__—-——f
252.5 ¢
2357
Cylin ] >
403.5
vl
566 B 5031 /\
By is the reaction from the load and which was calculate to be 120kN
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F (ED) is the force delivered by the hydraulic cylinder and it is 245 kN
F (ED) acts along ED arm in point D
250

Eis higher than A with 120 mm

The person who has the data on CG delivered me the information about the weight

distribution in B and E which is 220kN in B and 120kN in E.According to this they choosed
50 the diamteres of the hydraulic cylinders.Till now what | have seen and discussed on Eng-
Tips the cylinders ED can't lift the 220kN load (this load is delivered to 2 hydraulic
cylinders each delivering 245 kN = total 490 kN).
E So once again my opinion is that 490kN on ED can't lift the 220kN vertically.
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Loki skeleton modelled into Sam software.
Mass in red dot is given such mass and location that the vertical reaction force in B =120 kN as per instruction from Loki.
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stroke is 315 mm i

Hor bogie stroke = 497 mm ( that is
5528 minus 5031)
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Resulting force plot and mechanism
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Red curve is Resulting force plot close up
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Resulting forces and displacements plot
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